61.	                                 the O-ring at the plug-in coupling at least once every year for units which are in constant use.
a) Swap
b) Substitute
c) Replace

62.	The inhalation/exhalation valve should be replaced every              years for units which are in constant use.
a) 2
b) 3
c) 4

63.	The O-ring under the                          should be lubricated with Dow
Corning 111.
a) Speech Diaphragm
b) Relief Valve
c) Pressure Reducer

64.	The pressure reducer should be returned to the manufacturer or their agent for complete overhaul after at least 6 years                    .
a) Use
b) Usage
c) Wear

65.	A                          oxygen cylinder must be retested by a certified testing facility every 5 years.
a) Steel
b) Composite
c) Both A & B

66.	The BG-4 is approved for use at temperatures above -5 degree C (                           degree F)
a) 23
b) 26
c) 29

67.	A                            pressure reducer should be returned to the manufacturer or their agent for service as needed.
a) Flawed
b) Defective
c) Bad




68.	Only oxygen (medical grade or better) with > 99.5%                        is to be used to fill the BG-4 oxygen cylinders.
a) Pureness
b) Purity
c) Cleanliness
69.	The use of ice in the cooling system is only required at ambient temperature above 0 degree C (                 degree F).
a) 30
b) 31
c) 32

70.	Pressurized oxygen in contact with oil, grease, or other contamination can result in fire or explosion.
a) Ignition
b) Explosion
c) Outburst

71.	It is safe to use the BG 4 for up to 4 hours with a battery warning             Icon.
a) 0
b) 1
c) 2

72.	The battery must be replaced if battery warning               Icon is indicated.
a) 0
b) 1
c) 2

73.	A defective pressure reducer is the probable cause if the manual by-pass valve does not                             .
a) Go-off
b) Seal-off
c) Blow-off

74.	The                        LED flashes to indicate that the Sentinel is operating normally.
a) Red
b) Blue
c) Green

75.	Bypass output is > 50 L/min.
a) Output
b) Input
c) Pressure



76.	                           valve activation is 6 bar or (87 psi).
a) Relief
b) Minimum
c) Bypass

77.	The oxygen cylinder Burst disc ruptures at                            psi (275 bar).
a) 3000
b) 4000
c) 5000

78.	Refillable cartridge concerns are over packing and under packing.
a) Container
b) Cartridge
c) Casing

79.      	The EPDM and silicone masks allow               % peripheral vision.
a) 90
b) 95
c) 100

[bookmark: _GoBack]80.	Polycarbonate or Plexiglas lenses can be used in the                           .
a) Mask
b) Bag
c) Cooler
